Functions Rubric
Points | Section
points
1. Gives correct answers: (2, 9), (3, 7), (4, 5), (5, 3) 1
Draws a correct line on the grid 1
2
2. Gives correct answer: 'y =13 -2x 2
Partial credit 1)
For a partially correct answer.
Shows correct work such as:
1
The line has slope —2 and cuts the y axis at 13
3
3. Gives correct answers: (1, 5), (2, 8), (3, 9), (4, 8) 1
Draws a correct curved graph 1
2
4. Gives correct answer: y = 6x — x° 2
Partial credit
Expression 6x —x° (1)
Shows some correct work 1
3
Total Points 10




